Writing Quadratic Equations

m Algebra 2: Notes W

Writing Quadratic Equations

Given a point and the vertex (h, k) Use vertex form: y = a(x - h)2 +k
Given a point and the x-intercepts p and g Use intercept form: y = a(x - p)(» - g)

Given three 'poinis : Write and solve @ system of three equations
in three variables.

Ex 1) The graph shows the parabolic path of a performer who is shot out of a cannon,
where y is the height (in feet) and xis the horizontal distance traveled [in feet).

a) Write an equation of the parabola. lﬂ ~.00% (X~ 50) 1'2":3’\

b} The performer [ands in a net ‘5(}fee’r from the cannon. What is the height of the
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P1) Write an equation of the parabola that passes through the point ( . 2) and has

vertex (4 gﬂ -9). X W
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Ex 2) A meteorologist creates o parabola to predict the temperature fomorrow, where x
is the number of hours after midnight and vy is the temperature (in degrees Celsius).

a) Write a function f that models the temperature over time. What is the coldest
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P2) Write an equation of the parabola that passes through 1he point (2, 5} = -1 (~1o0)
and has x-infercepts at -2 and 4. Y= -10
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Partner Practice:

P3) The graph shows the parabolic path of a performer who is shot cut of @
cannon, where v is the height {in feet] and x is the horizontal distance
traveled {in feet). Write an equation of the parabola. The performer lands

in a net 60 feet from the cannon. What is the height of the net io_ﬂle.m.www——-—w-
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P4) The meteorologist creates a parabola to predict the
temperature the day after tomorrow, where x is the

number of hours after midnight and v is the temperature
(in degrees Celsius), Write a function f that models the

Hours aftr midhight temperature over fime. What is the coldest mn (Ve k)
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